HIWIN
178 599T503-1811

QRZ: 5l

BRI LR

(2) QRL-CA/QRL-HA

K1

“aQ
©
D |9
4
@

| [ & I
6-Mxl C
w G L
B1 B L1 K2
A :Ei @, | .
SRR At HE PN
(I = g ey as
= L <l — ===
c T « = [ | —————
T ‘ T ( .
| - ! i
N We @d
E P E
Mp QMY
VN
‘ ‘ s o
T &«% | ogE= &@@
s %
\ SHM EX EX  ZUBAE R
AR BRRS (mm) SHRHInml  ETE DEW BE
ne BRY EOW ERE . Bk S

HH N W B B C L L K K 6 M T H Hy Wg He D h d P E [mm) CIkN) Cq(kN)kN-mkN-mkN-m kg kg/m

QRL20CA 30 5 12 44 32 6 36 575 86 158 6 53 M5X6 8 43 43 20 21 9585 6 30 20 M5x20 26.3 38.9 0.591 0.453 0.453 0.32 2.76

QRL25CA 35 66 979 20.75 38.5 54.4 0.722 0.627 0.627 0.50

36 55125 48 35 6.5 7.25 12 Méx8 95 62 6 2323611 9 7 30 20 Méx20 3.08
QRL25HA 50 81 1129 215 44.7 65.3 0.867 0.907 0.907 0.62
QRL30CA 40 71 109.8 23.5 51.5 73.0 1.284 0945 0.945 0.79

42 6 16 60 40 10 8 12 M8x10 95 65 73 28 28 14 12 9 40 20 M8x25 4.41
QRL30HA 60 93 131.8 245 64.7 95.8 1.685 1.63 1.63 1.02
QRL35CA 50 79 124 225 71 94.7 1.955 1.331 1.331 1.26

48 65 18 70 50 10 10 12 M8x12 12 9 126 34 30.2 14 12 9 40 20 M8x25 6.06
QRL35HA 72 106.5 151.5 25.25 95.7  126.3 2.606 2.335 2.335 1.63
QRL45CA 60 106 153.2 31 123.2  156.4 3.959 2.666 2.666 2.45

60 8 20.5 86 60 13 10 12.9 M10x17 16 10 14 45 38 20 17 14 52.522.5 M12x35 9.97
QRL45HA 80 139.8 187 37.9 150.8 208.6 5.278 4.694 4.694 3.17

F: 1. 1kgf=9.81N
2. LEACorBIRIL BNENTE S5 » B0 7 2 CoorBEHR AT : Coor=1.23 x Croor



